
Topic : Binomial Theorem

MATHEMATICS

DPP  No.  62
Total Marks : 27

Max. Time : 27 min.

Type of Questions M.M., Min.

Single choice Objective (no negative marking) Q.1,2,3,4,5,6 (3 marks, 3 min.) [18, 18]

Multiple choice objective (no negative marking) Q.7 (5 marks, 4 min.) [5, 4]

Subjective Questions (no negative marking) Q.8 (4 marks, 5 min.) [4, 5]
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(A) 2 (B) 0 (C) 1/2 (D) 1

4. If (1!)2 + (2!)2 + (3!)2 + ..... + (99!)2 + (100!)2 is divided by 100, the remainder is

(A) 27 (B) 28 (C) 17 (D) 14
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(A) 4n – 3n + 1 (B) 4n – 3n – 1 (C) 4n – 3n + 2 (D) 4n – 3n
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(A)  10 (B)  11 (C)  12 (D)  13
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8. Find the sum of the series 
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1. (A) 2. (D) 3. (D) 4. (C)

5. (D) 6. (A) 7. (A)(D) 8.
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